1. Table: Clebsch-Gordan coefficients, spherical harmonics, and d functions®

Sign convention is

Theory of Atomic Spectra (Cambridge University,

that of E. P. Wigner, Group Thebryi_(Ap_ademic. New York, 1959), also used by E. V. Condon and G. H. Shor\ley. The
New York, 1953), M. E. Rose, Elementary Theory of Angular Momentum (Wiley, New

York, 1957), and Cohen, Tables of the Clebsch-Gordan Coefficients {North American Rockwell Science Center, Thousand Ozaks, CA, 1974).

The signs and numbers in the current tables have been talculated by computer programs written independently by Cohen &nd at LBL.

Note: A Y is to be understood over every coefficient; e.g., for -8/15 read -V8/15.
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